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1. Prove that if x is irrational (£ 32 #¢) then+/x is irraticnal. {16%)
2. How many different strings can be made by reordering the letters of the word SUCCESS? {(17%)
3. What is the value of k after the following pseudocode has been executed? (17%)
k=0
foriy=1ton
fori; =1toq
for iy =110 iy
k=Fk+1
a b ¢
4. Giventhat4= |d e [ | and det(4)=6, find (16%)
g h i
lg a d -3a -3 -3¢
@.h b e (). d e f (¢). det(4?) {d). det(4+4)
i ¢ f g—4d h-4e i-A4f
5. Determine whether the transformation T: R* —R? is one-to-one. (14%)
x, |
%y 4 2wy + 3%;
1 x5 |=
: - % —4x,
Xy

1 1 2 -1
6. Givend= |1 0 1|, b=]0 (20%)

2 1 3 2

(a). Find a basis for the row space of 4.
(b). Find a basis for the column space of 4.

(¢). Find a basis for the nullspace of 4.

vectors of 4.

(d). Determine whether b is in the column space of 4, and if so, express b as a linear combination of the column




